Conejo Creek Maintenance Spec. No. WP16-12 Abstract of Bids opened on 4/4/17

ENGINEER'S ESTIMATE \$599,725

LOW BIDDER -Zusser Company, Inc. Los Angeles, CA 90272

2nd Bidder -Summer Construction, Inc. Santa Paula, CA 93060 TOTAL \$624,852.00

TOTAL \$759,609.00

The undersigned certifies that the bids abstracted above were received on behalt of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM:, Consultant_, Client_, Pay File (Original)

Bids opened on 4/4/17		ENGINEER'S ESTIMATE		LOW BIDDER		2nd Bidder			
Conejo Creek Maintenance						Zusser Company, Inc.		Summer Construction, Inc.	
					528 Palisades Drive #504		15245 W. Telegraph Rd		
						Los Angeles, CA 90272		Santa Paula, CA 93060	
Spec. No. WP16-12						310-230-6808 FAX: 310-230-6890			
ITEM									
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	MOBILIZATION	LS	1	55,084.00	55,084.00	100,000.00	100,000.00	98,000.00	98,000.00
2	WATER POLLUTION CONTROL	LS	1	5,000.00	5,000.00	5,000.00	5,000.00	12,000.00	12,000.00
3	DIVERSION, CONTROL AND REMOVAL OF WAT	LS	1	100,000.00	100,000.00	100,000.00	100,000.00	79,273.00	79,273.00
4	EXCAVATION SAFETY AND SHORING	LS	1	3,000.00	3,000.00	1,000.00	1,000.00	4,215.00	4,215.00
5	CLEARING AND GRUBBING	LS	1	10,000.00	10,000.00	3,000.00	3,000.00	6,830.00	6,830.00
6	REMOVAL OF EXISTING FACILITIES	LS	1	5,000.00	5,000.00	5,000.00	5,000.00	140,135.00	140,135.00
7	EXCAVATION	CY	4123	40.00	164,920.00	30.00	123,690.00	22.00	90,706.00
8	FILTER FABRIC	SY	2551	5.00	12,755.00	5.00	12,755.00	4.00	10,204.00
9	BACKING CLASS NO. 2	CY	541	115.00	62,215.00	131.00	70,871.00	132.00	71,412.00
10	1/4 TON ROCK RIPRAP	CY	1405	100.00	140,500.00	131.00	184,055.00	115.00	161,575.00
11	COMPACTED BACKFILL	CY	1604	15.00	24,060.00	5.00	8,020.00	11.00	17,644.00
12	SELECT BACKFILL	CY	573	30.00	17,190.00	20.00	11,460.00	118.00	67,614.00
13	RELEASE ON CONTRACT	LS	1	1.00	1.00	1.00	1.00	1.00	1.00
	TOTAL				599,725.00		624,852.00		759,609.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified by bidder

Copies: Director PWA, PM:, Consultant_, Client_, Pay File (Original)

PROPOSAL

Contractor's Name	Zusser	Company, I	ue,
	List of Sub	contractors	

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name Subcontractor	of	Contractor's License Number	Business Address	Items of Work

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

		PROPOSAL		
Contractor's Name	Symmer	Construction,	Inc.	
Contractor o Harrio				

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Bonner & Carpenter	7998	506 E. Main St Santa Paula, CA 93060	Survey
Bonner & Carpenter Rain for Ront	904992	333 S. 12th St Santa Paula, 0A 93060	Survey 3 Partial

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.